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4, Define any two techniques of Capital Budgeting.

Note : Attempt all the sections as per instructions. .
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s. Define 'the: term Dividend.

Section—A
qus-® FATHIST 1% I -QICATHT Hiford |
(Very Short Answer Type Questions) Seétiun—B
(offrerg, I 5) que-¥

Note : Attempt all five questions. Each question carries

3 marks. 5x3=15 (Short Answer Type Questions)
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- Note : Attempt any two questions. Each question carries
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What is the Role of Financial Manager in Present

Scenario ?
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Define in Detail the various dicisions taken by

Financial Manager.
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Eﬁming per share of a company is Rs. 10 and market
capitalization rate K, is 10%. “The company has

before it an option of adopting a payment Ratio of

50%. 75% and 100% of Dividend. Using Walter’s .

formula of dividend payout, compute the market
value of company’s share, if the Rate of Return on

internal Investment is 1 5%.
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Section—C
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(Detailed Answer Type Questions)
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Note : Attempt any three questions out of the following
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five questions. Each question carries 15 marks.

Answer is required in detail. 3% 15=43
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Explain the Walter's Model with the help of an

example. What are it's shortcomings ifany ?
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What is cost of Preference share capital ? How do
you calculate cost of Redeemable and irredeemable

Preference Shares ?
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From the given information you are required to
calculate the weighted average cost of capital before

tax and after tax assuming tax rate of 50%.

Particulars Amount in Rupees

Equity share capital expected | 10,00,000

dividend 22%

11% Preference Shares 5,00,000

9% Debentures 15,00,000

8% Loan 10,00,000
40.00,000

FrTRige gaetl & STE OX =ika Siea golt
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are the points that are responsible for effecting the T T .
et A HA GIEIE 10
working capital need of an Organisation ? o eSSl B RGIET] 100,000
. , 11% gaiferepT aisr 5,00,000
2 7 T m ]
maﬁaﬁﬁmﬂmﬁ% ? fopell e fl 5% 7 500,000
tofied & agaT @ gefad H A el 10,00,000

e O _q?[ = o 40,00,000
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3 gintex & Company is planning to replace its existing

photo copy machine. The three alternatives are

available toit.

[ Viachinc A |Machine B___| MachineC___|
GosLof machine | 350000 [450000  [400000 |
Tifein Years | 3 | 6 L S —
AcF 100000 PA ' 120000 PA | 100000 PA for
' - | first3years
— : 90000 for next

' |

- | Syears
Salvage value ] 1 10%o of the cost lﬂ"Kg of the g:nr._tﬁ_l_g‘!rfi_uﬂh_g_cgt_—]

From the above information suggest Syntex and

Company which machine it should buy, Considering

the following :
(i) PBP
(ii) PPBP
(iii) ROI

(iv) ARR

(8)
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